Fri2 1 FESEY N - FPERRAX

AAE SRR
E)MEEEER £

CUTOEHE/TZ71%, 42 1BICERLE-AZEORRZEFLZETHS.

[EFEA : L LTH

TEIEE

£ THYEEH %) hR{E ZARE

EIMBEZER 452 | 23.2 /33 70. 3 25.0 7.0
HRNE (231) 64,047 | 25.0 / 33 75.6 27.0 6. 4
2E (A1) 1,033,291 | 25.4 / 33 77.0 27.0 6.1

EERSTI 57 (M EEH fitwh: 24)

(£ : A% £ 28 (%)

HERRE

EEHEE

40%

35%

30%

25%

20%

15%

10%

5%

0%

0 1 2 3 4 5

C—IE¥EERES

— Ak ERIR (A3)

\

—o— 2 (

g

B

6 7 8 9 10 11

s T O 3 O O O 3 O - O = O

12 13 14

15

16 17 18

19 20 21
O O O . - £ O 5 O s O = O = O . O - - 5 O 5 T 5 O =3 O =3 O = O . R - A

22 23 24 25 26 27 28 29 30 31

32 33

O 8 2 0.4

1M 0 0.0

28 1 0.2

3 2 0.4

418 1 0.2

5[ 2 0.4

6 & 1 0.2

78 5 1.1

8 [ 6 1.3

9 [ 2 0.4
10/ 11 2.4
11/ 8 1.8
12/ 8 1.8
13/ 7 1.5
14/ 7 1.5
15/ 9 2.0
16/ 13 2.9
17/ 8 1.8
18/ 10 2.2
19/ 14 3.1
208 16 3.5
218 10 2.2
228 22 4.9
2 3 18 4.0
2 41 29 6.4
25 32 7.1
26 17 3.8
27 40 8.8
2 8 33 7.3
29 38 8.4
30/ 29 6.4
318 25 5.5
32 20 4.4
33 6 1.3

B—21—-B301—3




Fri2 1 FESEY N - FPERRAX REERRE

AEERSN  [EEB : & LTERI]
E)MEEEER £

CUTOEHE/TZ71%, 42 1BICERLE-AZEORRZEFLZETHS.

Py - 3 FHEER = s = EEREE
AREE | FOESER | ) TRE | WREE Gk EHEH B B (%)
E|ELEEE2 452 7.3/ 11 66. 1 8.0 3.1 0 4 16 3.5
HEJIE (A3L) 64, 077 8.0/ 11 73.2 9.0 2.8 1R 14 3.1
£E (A3) 1,033,703 8.2 /11 74.5 9.0 2.7 2[4 21 4.6
3 [ 15 3.3
EEHATT 57 (W EEH, Hiw: 318) 4 21 4.6
5 fS 29 6.4
40% 6 [ 38 8.4
7 B4 45 10.0
8 i 51 11.3
) 9 69 15.3
35% 10m 78 17.3
1108 55 12.2
30%
B ERER
25%
—-A--HENE (A3)
20%
——2FE (23)
15%

10%

5%

0%
1 2 3 4 5 6 1 8 9 10 1
i i i i A i i i A i i i

B—21—-B301—3



Fri2 1 FESEY N - FPERRAX

AAE SRR
E/MEEEER £

CUTOEHE/TZ71%, 42 1BICERLE-AZEORRZEFLZETHS.

[#FA:FELTH

THIEE

R FHEZEH (%) PRiE ZHEfRE

EIMBEZER 452 | 18.1/ 33 54.7 17.0 7.4
HRNE (231) 64,105 | 20.5 /33 62.2 21.0 7.8
2F (2A3) 1,033, 885 20.7 / 33 62.7 21.0 7.6

EERSTI 57 (M EEH fitwh: 24)

(£ : A% B 28 (%)

HERRE

EEHMEE

40%

35%

30%

25%

20%

15%

10%

5%

0%

0 1 2 3 4 5
T O 3 O O - 5 O 5 O = O = O 3 O = O - 3 O 3 O = O 3 O = O - £ 3 O 3 O = O = O . O . R £ O £ 5 T > O =3 O = I

6 7 8 9 10 11

12 13 14

15 16 17 18

19 20 21

22 23 24 25 26 27 28 29 30 31

32 33

C—IE¥EERES

— Ak ERIR (A3)

\

—o— 2 (

g

B

O 8 0 0.0

1M 0 0.0

28 1 0.2

3 3 0.7

418 2 0.4

5[ 3 0.7

6 & 9 2.0

78 12 2.7

8 [ 14 3.1

9 [ 12 2.7
10/ 23 5.1
114 25 5.5
12/ 21 4.6
13/ 19 4.2
14 26 5.8
15/ 17 3.8
16/ 17 3.8
17/ 25 5.5
18/ 15 3.3
19/ 26 5.8
208 8 1.8
218 17 3.8
228 12 2.7
2 3 22 4.9
2 41 16 3.5
25 13 2.9
26 18 4.0
27 19 4.2
2 8 13 2.9
29 13 2.9
30/ 12 2.7
31/ 5 1.1
32 11 2.4
33 3 0.7

B—21—-B301—3




Fri2 1 FESEY N - FPERRAX

AAE SRR
E/MEEEER £

CUTOEHE/TZ71%, 42 1BICERLE-AZEORRZEFLZETHS.

[#1%#B : & LTEA]

TEIEE

£ TYEEH %) hR{E ZAERE

EIMBEZER 452 7.3/ 15 48.8 7.0 4.1
FRNE (23L) 64, 113 8.5/ 15 56. 7 9.0 4.0
£E (2A31) 1,033, 909 8.5/ 15 56.9 9.0 3.9

EEHITMT ST (M EEH

. ke - BE)

HERRE

40%

35%

30%

25%

20% |

15% |

10% |

5%

— Ak -ARE (A3)

b

—o— 2[EF (211)

EEREEE
(£ - 5168 B :EE (%)
O 4 4 0.9
1M 27 6.0
28 35 7.7
3 42 9.3
4 [ 32 7.1
5 [ 35 7.7
6 [ 39 8.6
7 8 23 5.1
8 [ 29 6.4
9 [ 29 6.4
10/ 35 7.7
114 30 6.6
12/ 31 6.9
13/ 24 5.3
14/ 25 5.5
15/ 12 2.7

0%

i i i

3 4 5
& il i

6
il

1 8

i i

9
il

11
il

B—21—-B301—3




	国語Ａ
	国語Ｂ
	数学Ａ
	数学Ｂ

